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B.Sc. DEGREE EXAMINATION, APRIL 2017.
III YEAR — V SEMESTER

ELECTIVE PAPER I — RESOURCE MANAGEMENT TECHNIQUES
Time : 3 hours
Max. marks : 75
SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.

1. Define the term OR.

2. List any four characteristics of OR.

3. What is meant by unbalanced transportation problem?

4. Write notes on unbalanced assignment problem.

5. Define: Feasible solution.

6. What is “no passing” rule in sequencing?

7. What types of games are solved graphically?

8. Write short notes on: Saddle point.

9. Expand: PERT and CPM.

10. Write down the rules for constructing a project network.

11. Define Transportation problem.

12. Write down applications of LPP.

SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

13. List out the necessity of OR in industry and role of computers in OR.

14. Find the initial basic feasible solution for the following transportation problem by 

VAM.

	
	
	         Distribution Centers
	

	
	
	D1
	D2
	D3
	D4
	Availability

	
	S1
	11
	13
	17
	14
	250

	
	S2
	16
	18
	14
	10
	300

	
	S3
	21
	24
	13
	10
	400

	
	       Requirements
	200
	225
	275
	250
	


15. Explain stepwise procedures for determining optimal sequence for n jobs on 2 machines.

16. Explain: Dominance property and its rules.

17. Differentiate between PERT & CPM.

18. Draw the network for the project whose activities and their precedence are given below. 

Activity :-

P
 Q
 R
   S
     T
        U

Predecessor:-

-
  -
  -
 P,Q
    P,R       Q,R

19. Solve the game whose pay-off matrix is given by:-
	
	PLAYER B

	PLAYER A
	
	B1
	B2
	B3

	
	A1
	1
	3
	1

	
	A2
	0
	-4
	-3

	
	A3
	1
	5
	-1



SECTION C — (3 × 10 = 30 marks)

Answer any THREE questions.

20. Solve the following by graphical method:-

Maximize Z = x1 – 3x2
subject to 
x1 + x2 ≤= 300

         x1 – 2x2 ≤ = 200

         2x1 + x2 ≥ = 100

         x2 ≤ = 200
               and   x1, x2 ≥ = 0
21. Solve the assignment problem
	Machine


	Job

	
	
	P
	Q
	R
	S

	
	A
	18
	26
	17
	11

	
	B
	13
	28
	14
	26

	
	C
	38
	19
	18
	15

	
	D
	19
	26
	24
	10


22. Explain: Travelling salesman problem in detail with an example.

23. Using Dominance, solve the game whose pay-off matrix is given by

	
	
	B
	
	

	
	1
	7
	3
	4

	A
	5
	6
	4
	5

	
	7
	2
	0
	3


24. A project schedule has the following Characteristics.

	Activity
	Time
	Activity
	Time

	1-2
	4
	5-6
	4

	1-3
	1
	5-7
	8

	2-4
	1
	6-8
	1

	3-4
	1
	7-8
	2

	3-5
	6
	8-10
	5

	4-9
	5
	9-10
	7


Construct the network and find its critical path.

——————
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